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Lesson 5: Multiplying Polynomials e

Part 1: Area

g ¢ ?'j What expression represents this length?
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3 So what product reptesents the area ot th s

g

Area of a rectangle is found by multiplying the lengths of the two sides.

We can think about multiplying polynomials in this same way.
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Part 2: Determining area using a model and the distributive property.
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Draw a diagram that represents the area of (x + 5)and (x + 7).
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Polynomials can be multiplied... ; T (a7
usinthhe distributive property. p ..using a Punnett Square (X+5) Lﬁi—i‘)
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b. (x-5)(x-3)
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Exploring the Product of Twe-Binerats
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Why is the product of each one of these two binomials a trlnomlah (Why are there three terms in your ans 7
wer
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Name:

.4 terms?
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Could the product of two binomials ever make ...

..more than 4 terms?
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Part 3: SpeCIaI products l
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"Multlply (x + 3)(x 3)
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By looking at the problem,
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how could you have predlcted that your prbeen a binomial?
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Types of special products .

Difference of two squares [ Square of a Blnomlal

(EHED%

L+ aB-an-B* FDs) 2 k3>

al A

By iqx‘*@!‘x} ]
¥ IZlx|-49
%(’2 2 x+2lx-19

=n

Practice ; e T S R e SRR R
la. Bx—=-7)CBx+ 7) b. (x + 4)2 e @y I 3)2 d. (m—6)(m+6)
| 7% Erohne g AE
-3 3 ervfs» P sl

h’l"—(amq—bWL'S (o

le 306 )

XIt licket:
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How are these products alike, and how are they different? C

(a + 6)? (a — 6)?
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